Q.1

Q.2

Q.P.Code.07147

[Time:2%: Hours] [Marks: 75]
Please check whether you have got the right question paper.
N.B: 1. Allquestionsare compulsory.
2. Each question carries 15 marks.
3. Use of simple calculatoris allowed.
Attemptany two of the following.
a) Calculate Karl Pearson’s correlation coefficient forthe following data:
X 5 8 9 11 12 15
Y 8 7 10 13 11 17
b) Findthe regressionequationof XonY forthe followingdata:
X 10 9 7 8 11
Y 6 3 2 4 5
c) Fitatrendusingthreeyearly movingaverage:
Year 2006 2007 | 2008 | 2009 | 2010 | 2011 | 2012 | 2013 | 2014 | 2015
Production (in 115 124 122 128 131 129 135 136 133 140
tonnes)
Attemptany two of the following.
(a) Shiftthe base from 2007 to 2011 and recast the'index numbers.
Year 2007 2008 2009 2010 2011 2012 2013 2014
Index 100 120 140 200 240 280 300 350
Numbers
(b) Calculate Fisher’s Index Number for the following data:
Commodity Base Year Current Year
Price (Rs.) Quantity Price ( Rs.) Quantity
A 5 4 10 2
B 6 7 8 10
C 4 2 2 8

(c) Calculate the Cost of livingindexnumber forthe following data:

Commodity Base Year Current Year Weight
(Price in Rs.) (Price in Rs.)
A 2 7 5
B 8 16 1
C 10 24 2
D 5 8 1
E 4 10 1
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Attemptany two of the following.

a) Define hypothesis and explainitsrole inresearch.

b) Explain the criteria of a good hypothesis.

c) Explainthe following: (i) Null and Alternative hypothesis
(ii) Type I and Type Il errors.

Attemptany two of the following.

a) Explainvarious types of Research Reports.
b) Describe the format of a Research Report.
c)Discuss: (i) Bibliography

(ii) Footnote.

Write short notes on any three of the following.

a) Regression analysis.

b) Components of time séries.

¢) Uses of index numbers.

d) Critical region.

e) Principles of writing a Research-Report
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